e ) i =

THES - LHEA

45851800 6% HAGMI 4K ERKEEEIBTLE

T = %

FUARRT/ N LRSS i

2% &

33, 990, 000H (HHEEMB 3, 090, 000H)

LK) HfREFEH B

SfM4FE9H 2 H

T | SM4FE9IH3H b AMEHE3IATI0R (&) £T
2K DR F S o | BRROTEAURIT RN TR 9 6 #F 3
FET kO s - | Rt A
BT RONEEL | okt 6l B—
#HIAZER L=1,030.7m @8 W=3.1~6.0m
REIL (BEZERWEAS20F T=5cm) A=4,320m2
BET (BEUFYYY—52RC-40 T=10cm)A=2,480m?2
BET (BEYFYYY—F2RC-40 T=12cm)A=1,650m2
BET (BEYZYSv—F2RC-40 T=13cm)A=112m2
T F= M | RET (HE£Y5YYY—52RC-40 T=15cm)A=140m2B8T (BEI5v>

¥y—22RC-40 T=16cm)A=6m2 XE#R IR EHE W=30cm L=

R HEMRSE
SRR
#w £E5 ME RE W=15cm

E#H W=45cm L=15m
W=15cm L=930m

L=66m

b E 2RI LD
Laicdh - T,
ZEIOMTFH %
EELZHEMA




A

L

.
5

K

15

\r
/

BH12% = 5041000043 I= 48180068 HABEBEIMNIKE ERKEERISE
No. A AL E = %1 BIANALKE | 55 2 B AKLAE | 55 3[Rl AKLEE | i o
1 (#) AE 31, 800, 000
RERME A 2O 0000000425
2 (%) ZBEHHE 31,300, 000
REIEE HEE RE 0000000423
3 MILER (B 31, 400, 000
REREHEHR ML K 0000000458
RIE
4 (%) A 30,900,000
KEmBEE BNl BE— 0000002291
5 BEES () 31, 500, 000
RERMEE EE BT 0000000430
6 (%) B8:34H 31,200, 000
REDME it RBE 0000000420
Ji (R) mEHEIE 31, 600, 000
3 ET N S 0000000606
8 FILEE (%) 31,500, 000
KREIER 2 = 0000001559
9 (%) FREHKIE 31250, 000
RREHR M F— 0000004311
(¥%) R+
10 | AFREZmR 32,000, 000
HEREEFR ®R% ER 0000000608
11 HBEN W) 32, 000, 000
R A N 0000000548
|
*
>

-




SHM4EQ9R1H

A Al Al =

5041000043

4K5HE18006%5 HABRINIKR ERKBIEBIE

T H %5

ABRENFRFILES R

A KL OH W | AM4FE9B1H Fi9E204%
AN . % Fr | 302%E=E
et (R F) &4 31507, 000 B3
[Fitk ]
= 3
TR MK 31,507,000 3
[Fifk]
i K ] FR i A% 21 015,000
[Fifk]
i A R YE A
[Fifk]
N =~ AN e
®E & & 30,900, 000 9
[Fitk ]
EREFERNZEKNEAEMO 6 —3
% L & | (&) AlIE
R FREVEHIR
Al E—

i =1




